EE
1999
MANAGEMENT
Paper 1
Time : 3 Hours ] [ Meaximum Marks : 300
INSTRUCTIONS

Each guestion is printed both in English and in Kannada.

Answers must be written in  the medium specified
(English or Kannada) in the Admission Ticke! igsued to
vou, which must be stated clearly on the cover of the
answer book in the space provided for this purpose. No
credit will be given for the answers written in a medium

other than that specified in the Admission Ticket.
Candidates should attempt any five questions.

All questions carry equal marks.
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Humean behaviour can be cassified into two categerles of characteristics,
List and explain them in detail. '

What are the various causes of conflict ? What steps can be taken to
reduce and resolve conflict that is behavioural in nature ?

A leader has certain inherent gualities and traits which assist him in
playing a directing role and wielding cornmanding influence over others.
Frnunerate these qualities and traits and explain them.

Decision making involves four basic phases. Explain those four basic
phases to make a wise decision rationally.

The broad questions that exccutives face time and again will be, “What
degree of- decentralisation is derirable and what are the cbstacles in
achieving decentralisation ?” Under the rapid changes in our economy,

how should an organisation try to answer the above two questions ?

Discuss the traditional and modern techniques of capital investment
appraisal bringing out their relative merits and demerits.

Coods are to be transported from the production centres Py, Py and Py to
the different markets M,, My, My and My The availability in the three
production centres is 230, 300 and 350 tons of the matenals. The
requirements at the markets are 150, 250, 200 and 300 respectively. The
unit costs of transportation from the different production centres to the

markets are as given below.

From/To . My My Mg, M
P, 4 7 5
Py 7 4
Py 7 5 9

Determine the optimum allocation that will minimise the total cost of
transportation. ‘

Write short notes on :

(i} Applications of normal distribution

(ii) Decision making under certainty, uncertainty and risk
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